[SERFILCO © 2023 Serfilco Ltd, All Right Reserved.

SERFILEO°

Product Bulletin:

Series 'HC' | Horizontal Pumps

2900 MacArthur Blvd. Northbrook, IL. USA 60062 WWW.SERFILCO.COM (800) 323-5431

Operation and Service Guide: | 0-2500
SINGLE SEAL DOUBLE SEAL
NO. DESCRIPTION QTY —Epve | PVDF CPVC | PVDF
1 |Bolt 1/4-20x2 SS 4 11-0324 -
1/4-20x2 1/2 SS 4 - 11-0429
2 |Washer 1/4 SS 4 11-0121
3 | Suction casing, CPVC 1 |44-4316-1 - 44-4316-1
PVDF - 44-4363 - 44-4363
4 |'O'-ring, EPDM 1 22-0586
FKM 22-0585
5 |Impeller assy, 1/3HP 1 | 44-7000 (44-7108-1| 44-7002 44-7106-1
3/4HP 44-7001 |44-7107-1| 44-7003 44-7105-1
6 |Support casing 1 | 44-7007 |44-7112-1| 44-7008 44-7101-1
7 |'O'-ring EPDM 1 - 22-0813
8 |Mechanical seal, EPDM Carbon-Ceramic 1 L(M1) 55-0409 L(M1xM1) 55-0424
FKM  Carbon-Ceramic V(M2) 55-0408 L(M2xM1) 55-0421
EPDM sic L(M8) 55-0520 L(M8xM1) 55-0521
FKM SiC V(M8) 55-0518 L(M8xM1) 55-0519
9 |Adapter ring CPVC 1 - 44-7110
10 |Bolt 3/8-16x3/4 SS 4 11-0371
11 |Washer 3/8 SS 4 11-0126
12 | Motor connecting bracket PPS 1 44-4032-1
13 |Mechanical seal backplate PVC 1 - 44-7011
14 |Flat head bolt 1/4-20x2 SS 4 - 11-0325
15 | Shaft 1/3HP SS 1 44-7012 44-7014
3/4HP SS 44-7013 44-7015
The following items are not shown
16 |Mechanical seal retaining clip SS 1 44-7024 -
17 |Water flush nipple 1/ANPT CPVC 1 - 33-0189
18 |Tube fitting 1/ANPT PP 1 - 33-1343
19 |Motor 1
3/4HP 115/208-230/1/50-60 66-1047-F
3/4HP 208-230/460/3/50-60 66-1048-F
Single Mechanical Seal Repair Pac Double Mechanical Seal
Includes Items 5,6,8,16 Includes Items 5,6,7,8,13,14
Impeller|Seal type| CPVC | PVDF Impeller| Seal type | CPVC | PVDF
1 44-7492 | 44-7496 1 44-7500 [ 44-7504
2 L(M1) 44-7493|44-7497 2 L(MIxM1) 44-7501 | 44-7505
1 44-749444-7498 1 44-7502 | 44-7506
2 V(M2) 44-7495 |44-7499 2 V(M2xM1) 44-7503 | 44-7507
1 44-7610[44-7614 1 44-7618 |44-7622
2 L(M8) 44-7611|44-7615 2 L(MBxM1) 44-7619|44-7623
1 44-7612|44-7616 1 44-7620|44-7624
2| VM) [227613[4a7617 2 |V(MBMD) 2 7621447625

L: EPDM V: FKM

(M1) EPDM Carbon-Ceramic (M2) FKM Carbon-Ceramic (M8) Silicon Carbide

PARTS LIST
P-0985_E
10/17/2023
Page 1 of 1


file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
/pdfs/bulletins/P-204.pdf
/pdfs/liturature/O-2500.pdf
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
http://www.serfilco.com/
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
http://www.serfilco.com/
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx
file://///engineering/contactus.aspx



